P7: Rational Expressions
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8. When the denominator is rationalized, 5
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9. The domain of the expression —
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A {x|x+—-1,x+2}
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D) {x | x # -2}
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12.The domain of the expression ~—;
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A) (0, 1) U (1,4) U (4, )
B) (—0,2) U (2,4) U (4, )
C) (=%, 1) U (1, %)
D) (—0,2) U (2,0)
E) (—0,0) U (0, )
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17. The domain of the expression is

A) (—0,=7)U (=7,—4) U (—4,—1) U (—1,x)
B) (—o0,—=7) U (=7, )
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32. The domain of the expression 2)(r—3)

A){x | x # 2and x # 3}
B) {x | x # 3}
C){x|x#2and x # —2}
D) {x | x # 2}

E) (=0, 00)
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40.R = % If R, = 0.2ohms and R, = 0.8ohms, then R =
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A) 0.160hms
B) 160hms.
C) 6 ohmes.
D) 32 ohms.
E) 160ohms.



41.The domain of the expression

is
x2+x-2

A) (—, )

B) (—2,0) U (1, )
C) [0,1) U (1, )
D) (—2,0) U (0, )
E) (0,2) U (2, )

42.Which one of the following statements is TRUE ?

A) VA + B = A + /B, for any positive real numbers A and B

B) (A+ B)® = (A + B)(A% + AB + B?), for any real numbers
Aand B
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D) 7100 + 7101 =8x 7100

E) VA* = A, for any real number A.
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